No.Misc/ 9330
Forest Department Himachal Pradesh.

From:

Dy. Conservator of Forests, Nurpur Forest Division, Nurpur. H.P.

To:

Executive Engineer, Nurpur Division HPPWD, Nurpur H.P.

Dated: Nurpur, the 1 2 NOV 2021

Diversion of 0.7194 ha of forest land in favour of HPPWD for the construction of link road from Thather to Ghatot via Daraman (Km.0/00 to 1/999) within the jurisdiction of Nurpur Forest Division District Kangra H.P. (Online No. FP/HP/Road/9555/2020)

Please refer to GoI letter No.8B/HP/06/44/2021/FC/299 dated 30.09.2021 addressed to Addl. Chief Secretary (Forests) H.P. Shimla read with Nodal Officer-cum-APCCF (FCA) endst. No.Ft.48-4079/2020 (FCA) dated 27.10.2021 on the above cited subject.

In this connection, it is intimated that the proposal for the construction of subject cited road has been approved in principle by the Govt. of India vide letter under reference. As per stipulations imposed in the in principle approval by the Govt. of India, the following amount of Compensatory Afforestation levies, cost of Net Present Value as well as penal Net Present Value required to be deposited in Ad-hoc body of Compensatory Afforestation Fund Management and Planning Authority (CAMPA) only through e-challan payment portal as under:-

S.No. **Particulars** Amount Head of Rs.7,13,371/- may be transferred Cost Compensatory 2,40,725 Afforestation for planting 1026 through e-payment portal online Plants including Contingency in the saving Bank Account charges. No.SB01025210 of Ad-hoc Cost of Net Present Value 4,72,646 CAMPA in Corporation Bank Lodhi Complex Branch New Delhi IFSC No.CORP0000371. Total: 7,13,371 4 17.5% Departmental Charges on 40,120 Rs.40,120/- may be deposited Compensatory Afforestation through Demand Draft in favour scheme. of Divisional Forest Officer, Nurpur payable at Nurpur Distt. Kangra H.P. Total: 40,120 G.Total: 7,53,491

Subject:Subject:Secritification H Sir,

FR CARTWA

16/11

At Numper Jose

anteing sur

sold in Poyour

Chall for Poyour

You are, therefore, requested to deposit the above said amount through e-challan payment portal and send the copy of the same to this office alongwith parawise reply to the stipulations imposed by the Govt. of India so that matter could be processed further for obtaining necessary final approval.

Dy. Conservator of Forests, Nurpur Forest Division, Nurpur

Sty Stongwill its enclosures or e Spy Stongwill its enclosures or e Speng send to Sessisted tongineer, Sub Division SIPMIND Suspins: In instruction and I'mmedute steereny cotton.

Sneether topped The Daviston, Tilling

CHECK LIST SERIAL NUMBER-17 "SCHEME FOR COMPENSATORY AFFORESTATION"

Detailed scheme for Compensatory Afforestation to be carried out in lieu of 0.7194 hac of forest area to be diverted for the construction of Thather to Ghatot via Draman road (Km.0/00 to 1/999).

1. Details of degraded forest land/non forest land:-

District: Kangra Village : Sukhar Tehsil : Nurpur

Name of Forest Division : Nurpur Range : Indora

Block : Gangath Beat : Sukhar

Name of Forest: UP-69-Sukhar Compartment: C-7

Survey Sheet No. 52 D/4 Area to be afforested: 1.4388 ha.

2. Description of Area:

i) Whether the site selected for Compensatory Afforestation is a land bank or not : Yes

ii) If the CA site is other than the land bank, reasons be given: NA

iii) In case of non forest area identified for CA, then what is the distance of CA site from the adjoining forest boundary: N.A.

iv) Soil type : Sandy Loamy

v) Soil type: Sandy Loamy

Topography:-

d) Hilly/Undulating/Plain : Hilly

e) Slope: Steep/Medium/Gentle: Medium

f) Whether the area is bearing any root stock of vegetation: Yes

3. Plantation Model:

Copy of the approved Compensatory Afforestation Scheme/Model showing component wise physical and financial break up to be enclosed: detailed scheme enclosed.

4. Schedule of Compensatory Afforestation/Plantation Programme:-

Details of year-wise break up of requirements of funds is as under:-

Year	Area in hac	Rate/Hac	Amount
i) Fencing Cost with RCC Fence Posts	1.4388	38500/-	55394
ii) Planting Cost	1.4388	45160/-	64976
iii) Nursery Cost of Plants	Rs.35/- per	1439 Nos	50365
	plant	Plants	
Total: Cost Norms of 1439 Plants	Total Ne	w Planting	170735
Cost Norms for planting of 5500 plants			
1 st Year Maintenance	1.4388 ha	9100/-	13093
2 nd Year Maintenance	1.4388 ha	6140-	8834
3 rd Year Maintenance	1.4388 ha	3180/-	4575
4 th Year Maintenance	1.4388 ha	3180/-	4575
5 th Year Maintenance	1.4388 ha	3180/-	4575
6 th year Maintenance	1.4388 ha	3180/-	4575
7 th Year Maintenance	1.4388 ha	3180/-	4575
8 th Year Maintenance	1.4388 ha	3180/-	4575
9 th Year Maintenance	1.4388 ha	3180/-	4575
10 th Year Maintenance	1.4388 ha	3180/-	4575
Total:			58527
	Total:		229262
Contingency charges	5%		11463
Total:		and the second	240725
Departmental Charges	17.5%		40120
G.Total:			280845
		or S	Say Rs.280800/-

5. Technical details:-

Technical details of Compensatory Afforestation Scheme are as follow:-

a) General Details : Plantation will be carried

out artificially in UP-129 Dini C-11 & C-12..

b) Spacing : 2.5 m x 2.5 m

c) Species : Khair, Shisham, Siris, Teak, Kachnar.

d) Plantation Method. : By Artificial Regeneration.

e) Soil and Moisture Conservation Works: Nil

f) Protection (Fencing, Watch man, People's: Barbed Wire Fencing with Participation etc.) RCC fence posts.

g) Proposed Monitoring Mechanis: Regular inspections by the

officials.

h) Any other information. : N.A.

Place: Nurpur.
Date:

Dy Conservator of Forests, Nurpur Forest Division, Nurpur, Nurpur H.P.

: Construction of Link road from Thather to Ghatot (Km.0/00 to 1/999) : FP/HP/ROAD/9555/2020 : 28.08.2020 Full Title of the Project Date of Proposal File No.

Bill for Net Present Value

co Value Class	Density of vegetation	Net Present Value Rate per Ha.	Forest Area to be diverted (in ha)	Amount of NPV
Λ	0.1 (Open Forest)	Rs.6,57,000.00	0.7194 ha.	Rs.4.72,646.00

Place: Nurpur Date: Dy. Conservator of orests, Nurpur Forest Division,